Mge, Food 3. Tech

14P/280/6 Question Booklet No...m.: .........

(To be filled up by the candidate by blue/black ball-point pen) \____—~

Roll No.

Roll No.
(Write the digits in words)

Serial No. of OMR Answer Sheet .........ccoiiiiiiiiiiiiiiiiiaaes

Day and Date .............ccoiiiiiiiiiiiiiiii et (Signature of Invigilator)

INSTRUCTIONS TO CANDIDATES
(Use only blue/black ball-point pen in the space above and on both sides of the Answer Sheet)

1. Within 10 minutes of the issue of the Question Booklet, check the Question Booklet to ensure that
it contains all the pages in correct sequence and that no page/question is missing. In case of faulty
Question Booklet bring it to the notice of the Superintendent/Invigilators immediately to obtain a
fresh Question Booklet.

2. Do not bring any loose paper, written or blank, inside the Examination Hall except the Admit Card
without its envelope.
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leave all the circles in the corresponding row blank (such question will be awarded zero mark).

11. For rough work, use the inner back page of the title cover and the blank page at the end of this
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Bote/MT: (1) Attempt as many questions as you can. Each question carries 3 marks. One
markw:llbedeductedfoteanhmooﬂectanm ‘Zero mark will be awarded

for each unattemaptsd question.
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(2) If more than one altenmhveanmseuntobeappmmmatc to the correct
answer, choose the closest one.
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1. IARI is located at
(1) Izatnagar (2) Karnal (3) Delhi (4) Hyderabad

2. World Food Day is celebrated on
(1) March 13 (2) May 30 (3 October 16 (4 November 3

3. First Agricultural Umvermy cstablished in India is located at
0 Bger (2 Agra - (3) Coimbatare- w”—
e &1
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4. Khaira disease of paddy occurs due to deficiency of
(1) phosphorus (2) boron (3) zinc (4) nitrogen

8. Which of the following requires maximum irrigation?
(1) Soyabean (2) Maize (3) Paddy (4) Lentil

6. Malting of barley is done to activate
(1) catalase (2) pectinase
(3) amylases (4) polyphenol oxidase

7. The two main ingredients used for curing of meat are
(1) phosphate and nitrite (2) sodium chioride and nitrite
(3) iso-ascorbic acid and nitrite (4) sugar and nitrite

8. Which of the following is a dough conditioner? |
(1) Sodium nitrite (2) Sodium sulphite

(3) SSL (4) Calcium acetate

9. The radiation dose required for commercial sterilization of meat is
() 5-10KGy . (2) 10-20 KGy (3) 26-25'KGy (4) 30-40 KGy

10. Hemagglutinins are found in
(1) linseed : (2) soyabean (3) potato " (4) groundnut

(189) | 2
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The moisture content in butter should not be more than

(1) 4% (2) 8% : (3) 12% (4) 16%

HTST method of pasteurization involves a treatment of
(1) 161 °F for 15 sec (2) 145 °F for 30 min

-

(3) 161 °F for 45 sec (4) 165 °F for 10 sec

Lactose is made up of

(1) galactose and giucose (2) galactose and fructose
(3) giucose and fructose (4) glumacmd@wu

The typical.flavonr of butter obtained from riperied cream is mainly due to
(1) acetic acid ‘ (2) lactic acid (3) propionic acid (4) diaoetyl

Pasteurization of milk is based on destruction of following pathogen
(1) E.coli - : : (2) Mycobacterium tuberculosis
(3) Coxiella: burnetti ' (4) Clostridium botulinum

Wl:hafthe(dbwmghummum-pedﬁcmty?

(1) Water (2) Fat (3) Protein (4) Lactose

According to PFA rules, toned milk should have a minimum of
(1) 3:0% fat and 8:0% SNF ' - (2) 340% fat and 8-5% SNF
: , . t ity

“la. . *
.
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-

(3) 3:5% fat and 8-9% BNF (@) 35% l_i_nfj‘ '
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18.

19.
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24.

(159)

According to BIS, ice cream must have the following minimum percentage of

(1) 8% (2 10% 3) 12% 4) 14%

Sweet curdling of milk is due to production of the enzyme
(1) lipase " (2) rennin " (3) lactase (4) protease

Following method is used for determination of fat in milk
(1) Soxhlet method (2) Weende method
(3) Kjeldahl method ' (4) Gerber method

Which test is conducted to determine the efficiency of milk sterilization?
(1) Turbidity test (2) Alcohol precipitation test
(3) Phosphatase test (4) COB test

Following is a broad spectrum preservative

(1) Calcium sorbate (2) Calcium propionate

(3) Sodium benzoate (4) Potassium metabisulfite

Which of the following denotes accumulation of solutes on surface of foods during
drying?

(1) Scalding (2) Thickening (3) Wilting, (4) Case hardening
Microbial cells are most resistant to heat in

(1) lag phase (2) log phase (3) decline phase (4) stationary phase
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B-glucans are found in

(1) wheat (2) rice (3) bariey  (4) soyabean

Hops are used as a source of the following in beer manufacture
(1) Amylases (2) Tannins (3) Proteases (4) Carbohydrates

Tempering of soft wheat is done to following level prior to milling in a roller flour mill‘
{1) 12-13% (2) 14-15% (3) 16-17% (4) 18-19%

Whichofthefolbwingianotaparﬁﬁdalowéetma?
(1) Saccharin (2) Calcium cyclamate

(3) Sorbitol (4) Auramine

Which of the following is rich in methionine?

(1) Groundnut (2) Cottonseed (3) Sesame (4) Soyabean

Which of the following fraction of gproteins is maximum in milled rice?
(1) Albumin (2) Globulin (3) Glutelin (4) Prolamine

Papain is used in meat as a
(1) favour enhamcer - (2) tenderiser
(9 -colouring agent (4) preservative



14P/280/6

32. Which of the folloqrinﬁ is a non-climacteric food?
(1) Mango- (2) Banana (3) Tomato (4) Pineapple

33. Which of the followipg is an antioxidant?
(1) Sodium propionate. (2) Calcium sulphate
(3) Propyl gallate : (4) Potassium nitrate

34. Met-myogiobin imparts following colour to meat
(1) Brown (2) Bright red (3) Greenish tinge (4) Purple

35. The temperature range for Ultra High Temperature (UHT) sterilization of milk is
(1) 90-100 °C (2) 100-115 °C (3) 135-150 °C - (4) 180-210 °C

36. BOD stands for
(1) Biological Oxygen Depletion (2) Biological Oxygen Demand
- (3)  Biochemical Oxygen Demand (4) British Oxygen Depletion

37. Process time is independent of can size in
(1) in-bottle pasteurization . (2) canning

(3) bottling ' (4) aseptic canning

38. Which of the following is a flavour enhancer?

(1) Potassium bromate (2) Monosodium glutamate

(3) Glycerol mono stearate (4) Sodium alginate

(189) 6
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A thermocouple used in témpa‘a.ttlre regulators is made of two metals having different
(1) coefficient of thermal gxpansion (2) densities
(3) weight _' (4) malleability

The chief muscle pislnént is a protein called

(1) globulin (2) myoglobin (3) elastin (4) collagen

lﬂa'ohillrennctmmauﬂyprcparedﬁ-om
(1) Aspergillus fumigates " (2) Bacillus subtilis
(3) B. stearothermophilus ' (4) Aspergillus niger

BHA is added into food products as
(1) antibacterial agent .~ . (2) entioxidant

(3) entifoaming agent | . (4) anticaking agent

‘ Myegser buirh, a defect which occurs generally in fropen foods is due to

(1) osmosis _ (2) rehydeation
(3) thermal conductivity ~ (4) dehydration

Rdigumtchnnpsfromvapourtoliquidmteinthcfonowing
(1) Compressor (2) Evaporator (3) Condenser (4) Metering device

_F_q_m!p caddation of glucose, respiratory quotient is

M o7 2) 10 @ 13 . . e
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Which of the following amino acids is deficient in pulses?
(1) Lysine (2) Methionine (3) Tryptophan (4) Threonine

Sulphur resistant cans are used for canning of

(1) peas (2) lettuce (3) apples (4) tomatoes

Loss factor term is associated with the following
(1) Irradiation (2) Microwave heating
(3) Ohmic heating (4) Thermal processing

The micro-organisms associated with pickling of vegetables are

(1) Acetobactor aceti (2) Lactic acid bacteria

(3) Saccharomyces cereviseae (4) Staphylococcus aureus

Which of the following enzymes should be inactivated prior to or immediately after
homogenization of milk?

(1) Lipase (2) PB-galactosidase (3) Invertase (4) Protease

Which of the following organisms is used in tempeh production?
(1) Aspergillus niger (2) Neurospora sitophila
(3) Rhizopus oligosporus (4) Aspergillus oryzae

Erucic acid is found in

(1) linseed oil {2) cottonaeed oil (3) soyabean oil (4) mustard oil

8
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b
Thiobarbituric Acid Test is used to determine

(1) hydrolytic rancidity - .. (2) oxidative rancidity

(3) proteolysis (4) -SH groups

The principal site of water absorption in case of globular protein is

(1) hydroxyl group (2) - peptide bond

(3) carboxylic group (4) amino group

Multiple effect evaporator is used to

(1) save energy | (2) concentrate heat sensitive materials
(3) concentrate any food (4) increase steam ‘economy

Which of the following exhibits maximum sweetness?

(1) Maltose (2) Sucrose (3) Fructose (4) Glucose

Fraction of wheat pratein soluble in 70% alcohol is called

(1) glutea (2) globulin (3) glutenin (4) gliadin
Winterization step is associated with the following
(1) Vegetable oils (2) Animal protein

(3) Winter vegetables (4) Freeze drying

Who is known as father of canning?

(1) Lowin Basteur (2) N. W. Desrosjer
Y
9
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A basis box of tin plate has an area of
(1) 11360 sq inch : (2) 21360 sq inch
(3) 31360 sq inch (4) 41360 sq inch

A solution having 25% sodium chloride will correspond to
(1) 70° Salometer (2) 80° Salometer (3) 90° Salometer (4) 100° Salometer

Which of the following is not a natural colour?

(1) Lycopene (2) Lutein - (3) Xanthophyll (4) Erythrosine

Sauerkraut is _manufactured from
(1) cauliflower (2) cucumber (3) cabbage  (4) grapes

Syneresis of fruit jelly occurs due to
(1) insufficient pectin (2) insuffitient sugar
(3) hydrolysis of sugar (4) use of immature fruit

Red colour of apples is due to

(1) Anthocyanins (2) Lycopene (3) Carotenes (4) Xanthophylls

What is a mono-meric unit of pectin?
(1) Glucose (2) Galactose

(3) Mannose (4) Galacturonic acid

10
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Which one of the following is a substrate for pelyphenol oxidase?
(1) Guiacol _ (2) Tartaric acid
(3) Chlorogenic acid (4) Ferulic acid

Minimum content of juice in squash is
(1) 10 percent  (2) 25 percent  (3) 40 percent (4) 65 percent

Rice bran is a good source of the following _
(1) Vitamin A (2) Vitamin B, (3) Vitamin D (4) Vitamin B,

The pH of medium acid foods is in the range of
(1) above 53 2 4553 (3) 3745 (4) below 37

Clostridium botulinum does not grow in foods h‘vm.g pH below
(1) 46 . (@ 5o 3) S6 (4) 60

Which of the following is an index organism for sanitary quality of a food?
(1) Lactic acid bacteria - (2) Shigelln
(3) Salmonella (4) Coliforms

ﬁmemmmutuataopeuﬂctanpemmrcreqmredtoduuoymawpmﬂro
pqnhhqauhownu e

(O Peake (2 Dvalue @) 2 valie .,..9;.}* :

11



14P/280/6

74. Following is a Class | preservative
(1) Sodium chloride (2)- Potassium meta bisulphate
(3) Sodium meta bisulphate (4) Sodium benzoate

78. The approximate lower limit of water activity for growth of moulds is
" (1) 060 (2) 080 (3) 0-88 4) 094

76. The minimum concentration of tomato solids in tomato paste is

(1) 12 percent (2) 25 percent (3) 40 percent (4) SO percent

77. Jel meter is used for assessment of
(1) viscosity of pectin cxtrac;: (2) activity of jelly
(3) colour of fruit juice (4) TSS of jelly

78. In jam, the total soluble solids should not be less than

(1) 68-5 percent (2) 725 percent (3) 76'S percent (4) 80-5 percent
79. Water absorption of wheat flour is measured by
(1) Viscograph (2) Extesograph (3) Mixograph (4) Farinograph

80. Pasta products are usuaily made from the following type of wheat
(1) soft wheat _ (2) hard wheat (3] red wheat -(4) .dumm wheat

81. Which of the following is a branched polysaccharide present in most cereals?
(1) Amylase - (2) Amylopectin (3) Cellulose (4) Glycogen

(159) 12
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82. The ratio of ghutenin and gliadin in good quality wheat protein is
(1) 1:1 ) 2:1 3) -1:2 - @) 1:3

83. Which of the following is not a unit of roller flour mill?
(1) Break roll system (3) Reduction roll system
(3) Cone polisher (4) Purifier |

84. Wheat kernel has bran content of

(1) 9-11 percent  (2) 13-17 percent (3) 18-21 percent (4) 22-25 percent
88. For avoiding development of cracks paddy should be harvested at
(1) 10-12% moisture . (2) 12-14% moisture

(3) 20-22% moisture (4) 30-32% moisture

86. Which of the following is a chemical leavening agent?
(1) Ammonium bicarbonate ' (2) Acid calcium phosphate

(3) Sodium citrate ' (4) GMS

87. Which of the following causes ropiness in bread?

(1) Bacillus cereus (2) Buacillus subtilis
(3) Bacillus ceagulans " (4) -Bacillus circulans
88. MNormally the % extraction rate of wheat flour for Sread making is
_ ““ > ""u 60-62 @) 7073 7 * ‘“t*
L : RS A
: ¥

(189) - 13
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89. Baking of double bread is done at

(1) 130-150 °F (2) 230-250 °F (3) 330-350 °F (4) 430-450 °F

90. Following solvent is used for extraction of oil from oilseeds

(1) Ethyl alcohol (2) Hexane (3) Acetone (4) Benzene

91. Calcium propionate is a
(1) mould inhibit_or (2) emulsifier
(3) leavening agent ' (4) bleaching agent

92. Gossypol is found in
(1) sesame (2) mustard (3) groundnut 4) cottonseed

93. Following is a crystal clear product
(1) Crush (2) Cordial (3) Jelly (4) Nectar

94. It is not utilized by yeasts

(1) sucrose (2) lactose (3) glucose (4) fructose

95. Which of the following value is added to convert temperature in °C into absolute
temperature? : ' *
(1) 27315 (2) 37315 (3) 300-15 - (4) 32515

96. If the pressure is reduced below atmospheric pressure, the boiling point of milk will be
(1) greater than 100 °C (2) less than 100 °C
(3) 100 °C | (4) 101 °C
(159) i4
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- 97. The perfect gas low states that
(1) PT=NvR (2) PR=TNv (3) PV =NRT (4) PN=vRT

98. What is Gluten?
(1). Carbohydrate (3) Pretein
(3) Vitamin (4) Mixture of carbohydrate and protein

9. The unit of thermal cenductivity is
wh) kK 2 W/m?K (3) W/m?-K-h (4) W-m/K

100. The Parrall index is used to determine the degres of
(1) centrifugation (2) homogenization

(3) sterilization (4 irradiation

101. The sccond stage in two stage homogenization is used to
(1) reduce the size of fat globules further |
' (2) increase the size of {at globules
3) increase the size of clusters of fat globulcs
@) uniformly disperse the fat globulcs

103. For good quality ice m. the overrun at -5-6 *C should be

(1) SO0% (2) 100% (3) 150% (4) 75%

mp,ﬂnwnwbwmeqwms
) 2% "2 50% (3) 75%

(189) 15
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108.
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Cyclone separator is used to separate the materials by the application of
(1) centripetal force (2) gravitational force
(3) magnetic forcé ) (4) centrifugal force

Recommended moisture content (wet basis) of paddy for safe storage is
(1)" less than 5% (2) 6-8% (3) 12-13% (4) 18-20%

Steam economy of single effect evaporator without vapour compression is

(1) less than one (2) equal to onc  (3) equal to two  (4) equal to three
hmnamntrt;utdndngpuiod,thcmrfnoeofthefoodmatﬂialequahwwhich
temperature of drying air?

(1) Dry bulb temperature

(2) - Wet bulb temperature

(3) Dew-point temperature

(4) Lower temperature than wet bulb temperature

Triple point of water occurs at
(1) 30 °F and 27 mm Hg (2) 30 °F and 37 mm Hg

(3) 32 °F and 47 mm Hg (4) 32 °F and 57 mm Hg

Which of the following is the major component of glass?
(1) Calcium oxide . (2) Potassium oxide
(3) Sodium oxide . ) (4) Silica oxide

16
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A ton of refrigeration is equal to
(1) 100000 BTU (2) 188000 BTU  (3) 200000 BTU  (4) 288000 BTU

For strongly corrosive foode-, following type of steel plate is recommended for canning
(1) Type L (2) Type MS (3) Type MR (4) Type MC

Non-enzymatic browning reaction occurs between
(1) sugars and ascorbic acid (2) amino acids and sugars

(3) amino acids and ascorbic acid (4) polyphemels and oxygen

What concentration of benzoates is generally used in preservation of tomato products?

(1) 0-1% (2) 0-3% (3) -0:5% (4) 07%

Homogenized milk must have 90% of fat globules of size smaller than

(1) 1p 2 2p @) 3p @) 4p

Under the most ideal conditions a bacterium may reproduce itself as often as
(1) every 20 to 30 seconds (2) every 20 to 30 minutes
(3) every 40 to 50 seconds (4) every 40 to 50 minutes

Best set jelly is obtained at a pH of

(1) 30 ' (2) 60 (3) 70 (4) 80

Whhthcmtmﬁaloonaﬁtumtinjdlym ) ) |
(1) Steech  (2) Cellulose (3) Pectin (4) Fioimicelinbifée

(@ Lj»\{ : 17
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118. FPO stands for
(1) Food Products Organization (2) Pruit Products Order
(3) Food Products Order (4) Fruit Panel Organization

119. Beany flavour in soyabean is associated with
(1) lipoxygenase oxidase (2) polyphenol

(3) protease (4) pectin methyl esterase

120. Cereals are generally deficient in

(1) lysine (2) methionine (3) isoleucine (4) tryptophan

LA B 1
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